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QUESTION 1

In one of your databases, user KING is:

1.

Not a DBA user

2.

An operating system (OS) user Examine this command and its output:

SHOW PARAMETEE 03 AUTHENT PREFIX
NAME TYPE VALIE

os_authen prefix string

What must you do so that KING is authenticated by the OS when connecting to the database instance?
A. Set OS_AUTHENT_PREFIX to OPS$

B. Have the OS administrator add KING to the OSDBA group

C. Grant DBA to KING

D. Unset REMOTE_LOGIN_PASSWORDFILE

E. Alter user KING to be IDENTIFIED EXTERNALLY

Correct Answer: E

https://oracle-base.com/articles/misc/os-authentication

QUESTION 2
You execute this command:

CREATE SMALLFILE TABLESPACE sales DATAFILE “/u01/app/oracle/sales01.dbf SIZE 5G SEGMENT SPACE
MANAGEMENT AUTO;

Which two statements are true about the SALES tablespace? (Choose two.)
A. It must be smaller than the smallest BIGFILE tablespace

B. Free space is managed using freelists

C. Any data files added to the tablespace must have a size of 5 gigabytes

D. It uses the database default blocksize
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E. Itis a locally managed tablespace

Correct Answer: DE

Incorrect segment management clause It lets you specify whether Oracle Database should track the used and free
space in the segments in the tablespace using free lists or bitmaps. This clause is not valid for a temporary tablespace.
AUTO :Specify AUTO if you want the database to manage the free space of segments in the tablespace using a bitmap.
MANUAL :Specify MANUAL if you want the database to manage the free space of segments in the tablespace using
free lists

E - Correct https://docs.oracle.com/cd/B28359_01/server.111/b28310/tspaces002.htm#ADMIN11360 Create a locally
managed tablespace by specifying LOCAL in the EXTENT MANAGEMENT clause of the CREATE TABLESPACE
statement. This is the default for new permanent tablespaces,

D - Correct https://docs.oracle.com/cd/B28359 01/server.111/b28310/create005.htm#ADMIN11105 The most
commonly used block size should be picked as the standard block size. In many cases, this is the only block size that

you need to specify. Typically, DB_BLOCK_SIZE is set to either 4K or 8K. If you do not set a value for this parameter,
the default data block size is operating system specific.

QUESTION 3

Which three statements are true about data block storage in an Oracle Database?
A. A block header contains a row directory pointing to all rows in the block.

B. An index block can contain row data.

C. Row data is stored starting at the end of the block.

D. A data block header is of a fixed length.

E. A table block must always contain row data.

Correct Answer: ABC

QUESTION 4

Examine the description of the SALESL table:
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SALES?2 is a table with the same description as SALES1.

Some sales data is duplicated in both tables.

You want to display the rows from the SALESL1 table which are not present in the SALES2 table.

Which set operator generates the required output?
A. INTERSECT

B. UNION ALL

C. UNION

D. SUBTRACT

E. MINUS

Correct Answer: B

QUESTION 5
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What is true about non-equijoin statement performance? (Choose two.)

A. The BETWEEN condition used with a non-equijoin always performs better than when using the >= and = and
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